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Warm-up before 7.5: Rational Exponents Period:
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Definition of a rational number:

Rule:

Rewrite using rational exponents
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Rewrite without rational exponents (Radical form)
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Review rules of exponents




n) ‘\}3m+1—4=6

e A .

(@ﬁ)%@@)"




Homework Section 7-5 and 7-6
Page 315: 9,10, 13,14, 16,17, 18,19, 22,23, 25, 26, 33, 34, 48, 49, 50, 51, 54, 55, 57 - 6]
Page319: 1 -4 all

you must write down the original problems,
work necessary to solve the problem
and their answers earn credit for the assignment




